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A Green Cornfield
Christina Rossetti

The earth was green , the sky was blue :
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| saw and heard one sunny morn
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A skylark hang between the two ,
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A singing speck above the corn ;
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A stage below in gay accord ,
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White butterflies danced on the wing ,
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And still the singing skylark soared ,
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And silent sang and soared to sing.
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The cornfield stretched a tender green
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To right and left beside my walks ;
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I knew he had a nest unseen
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Somewhere among the million stalks .
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And as | paused to hear his song
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While swift the sunny moments sild ,
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Perhaps his mate sat listening long ,
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And listened longer than | did .
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Answer the questions.
1-Is a speck something big or small (line 4)7? £(& ) s 5 5 iua dxddl Ja
small.
2-If something is in accord, is it in agreement or disagreement (line 5)?
(e i) BER gi GUS 138 b ¢l B gk Sl SIS 1)
in agreement.
3- Does tender suggest somethlng fresh and young, or old and strong
(line 9)29(% shud) Uy Lassd gi ¢ jiuay an U iy ikl ¢ 58 Jo
fresh and young.
4- What does a bird do in a nest (line 11)29(Y ' saudl) (2l 2 skl Jads 13
It lays eggs sl i,
5- Which part of a plant is the stalk (line 12)?9() ¥ b3) G-t 52 &bl o ¢ 3o s
It's the long, upright part of the plant that supports the leaves.
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6- Does swift mean slow or fast (line 14)7? £(1 ¢ )i sl al skl a3l 0 a3 e
fast.
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The poet describes how content she feels as she walks through a
cornfield. As she walks along, she sees a skylark flying in the sky . It
doesn’t sing as it flies lower . Below it, butterflies move quickly in the
cornfield.

The poet knows that the skylark’s nest is hidden in the cornfield. She

| imagines that its companion is also listening somewhere in the cornfield.
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rhyme 4814} D oduall) (e o Al
(blue/two; accord/soared)
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Answer the questions about the poem.

1- The poet uses many examples of alliteration. Find one example.
What effect is the poet trying to achieve with this technique?
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Some word pairs alliterate (singing speck on line 4, listening long on
line 15, listened longer on line 16),

And still the singing skylark soared (line 7), And silent sank and soared
to sing (line 8) and While swift the sunny moments slid (line 14).

Alliteration adds to the rhythm of the poem and also links dissimilar
words together (here we have soared and sank; silent and singing).
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2 Find two references to another listener, apart from the poet herself,
in lines 10 to 16 of the poem. Who or what is this listener?
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The two references are | knew he had a nest unseen (line 11) (the
female bird is sitting on the eggs); Perhaps his mate sat listening long
(line 15) (the female bird). The listener is the female skylark.
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3 How do we know that the poet leaves the cornfield before the skylark
has stopped singing? fsuall e ol ik a8 g8 38 5,30 Jha jalds LAl o o jad wius
She says, Perhaps his mate sat listening long, And listened longer than
1 did (lines 15-16). This shows that the poet leaves the cornfi eld but
speculates that the bird’'s mate might still be listening to the song:
therefore, the bird must still have been singing.
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